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A

® x?2-25=(x+5)(x-5)

@ x4 2x-8=(x+4)(x~-2)
® 202+ 7x+3=(2x+1)(x +3)
@4x2+4x—15:(x—3)(4x+5)

® x2-14x+49 = (x-17)?

@ 4x® +4x - 15 = (2x - 3)(2x + )




2. The Al A9 Y AHE?

2% +x-6, x2 -4, 3x2-4x-20

@ 2x-3 @ x-5 @x+2
@ x-4 ® x-2

B

2x2 +x-6 = (x+2)(2x-3)

2 -4=(x+2)(x-2)

3x2 —4x — 20 = (x + 2)(3x — 10)
web BE A (x+2) I,




3. ab-b-a+ 1< H2A AL AL9

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)




& 0] 85}F0] 24 x 27 — 24 x 22 5 7FehS}HA| A4tste] et

24 X 27 —24% 22 =24% (27 -22) =24 x5 =120




3x—20°]3x? —ax+8 9 AU W], ¢ O] & FoHH?

® 11 @ 12 ® 13 @14 ® 15

B

3x> —ax+8 = (3x—2)(x + p)
=3x2+3px—2x-2p
=3x>+Bp-2)x—2p

_2p: 8’ P = —4 O]—]—l,

3p—2=-a, a=14 o]},
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@ 10 @1 @) @ 18 ® 20

B ~
o] F oA (x +4)(x - 7) O] BE x? - 3x - 28 ],
x G AFE R Boko B A2 —28 ot
50| E o]AA]L (x - 2)(x—10) O] =& x2 — 12x + 20 ©] 1,
A4S AE Hetou g x Fo] Ag —12 ojth
a=-12, b=-28
a-b=-12-(-28) = 16




8.

29
H7]
Q@ xy © x+y © x+2y
® 2x+3y @ x(x+2y) ® y(x+y)
ONGNC) )0, ®, @ ® 06,0 6
ONCRENG) ® 6,66

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x + )}

= xy(x + 2y)




9. (x-1)(x-2)(x+1)(x+2)- 10 AFE}5}H?

® (2 -1)(-6) @@ + 12 -6)
® (¥*-1)(x*>+6) @ (> +1)(x*+6)
® (x®*-1)(x*>-5)

4 _5x2 +4—10
4 _5x2 -6
(x2 +1)(x*-6)

(x> =1)(x* -4)-10




10. Thee x - 81yt & Q4R @ Zolet. of uf, [ bl e A
A5 G FoHE?

Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15




